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Part I / W 1
Mathematics / TfoTA

A common tangent to x2—2y?=18 and
x2+12=9 is :

1) y=+2x+35

(2) y=2x+3.5

(B) y=+2x+343

(4) y=2x+3.7

Let A and B be two events such that

P(AUB)=3/4 and 1/8 = P(AnB)=< 3/8.

P(A)+P[B)= 7/8

Statement 2 : P(A)+P(B)< 11/8

(1) Statement - 1 is false ; Stz{tement -2
is true.

(2) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is a correct

Statement 1 :

explanation for Statement - 1;

(3) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) Statement - 1 is true ; Statement - 2
is false.

Let f be a differentiable function such that
1
8f(x)+6f (;) —x=5, (x#0) and

d
y=2x2 f(x), then .4 atx=—11is:

dx

1

D 1
15

2 3
15
G 1
1
4 ~ 3

1.

2~ 22 =18 T 2+ 2 =9 @ IS
¥ W@

1) y=v2x+3J5
2) y=2x+35
3) y=v2x+33
4) y=2x+3J7

AT A o1 B Gt <) 9 § 5 PAUB) =3/4

a1 1/8 < P(AB)=< 3/8 1
FA71: PA)+P@B)= 7/8
wg12: P(A)+P(B)< 11/8

(1) & -139F ¢, F99 - 2TA T

2) T -19«a T ; YT 2 9A 2,
HYF - 2H99 - 1 I HE AR T

(B) FT-1TAF E; T -2TF R ;
HUT = 2, WO - 1 F T A=A G
?l

(4) HY - 16 T, B - 2 3HA ¥

HAE fUH W AGEHEAE $aq 8, 6
af(x)+6f(31;)—x=s, (x20) % TN

y*xzf(bc)%,?flx=—1qt%aﬁlwﬁ%:
1
1 1
15
@) 1z
15
G 13
1
@ 1

SPACE FOR ROUGH WORK / % &1d & fat wg
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Statement 1 : The line 2x+y+6=0 is
perpendicular to the line x—2y+5=0and
second line passes through (1, 3).

Statement 2 : Product of the slopes of any
two parallel lines is equal to ~1.

(1) Statement - 1 is false ; Statement - 2
is true.

(2) Statement - 1 is frue ; Statement - 2
is true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1,

(4) -~ Statement - 1 is frue ; Statement - 2
is false.

3
2 cot~1(7) +cos ™1 [g ), in principal value,

is equal to :
17
(1) cosec™ . Jop

(44
o]
S 125]

44
-1t ==
(3) «cos 117]

(4) tan_l(%]

44

: -1 —
(2) cos 125
44

(@) cos™l 77

JbigDeal

T W 2x+y+6=0T@ x—2y+5=0
R SEad T 991 SO W@ (1, 3) ¥ B I
l

HYF 2 T HIG {@IET HT @l R
~1%I

(1) o - 139 §, F9F - 2§ 7

(2) FT -19G 8 ; FH - 2 9A ¢,
FUT - 2, A - 1 H1 T A g

(B) FMW-19@ & F - 294 §
FOM - 2, HUT - 1 I WE =@ T
o

(4) HI - 19 B, U - 2 WA ¥

2 cot_1(7)+cos"1("g‘) T & A SR
?:

117
1| £,
(1) cosec (125 ]

(41
(4) tan—l(m)

N/Page 3
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From a window x meter high above the
ground, in a street, the angles of elevation
and depression of the top and the foot of
another house exactly opposite to the
window in the same street are « and B
respectively. Then the height (in meters)
of the house on the opposite side is :

(1)  x(1+cota cosp)
{2)  x(1+tana cotB)
(3) x(1+tana cosp)
(4) x(1+cota tanf)

If a variable line, passing through the point
of intersection of the lines x +2y—1=0
and 2x -y —1=0, meets the coordinate
axes in A and B, then the locus of the
mid-point of AB is :

(1) x+3y+10xy=0

(2) x+3y=0

3) x+3y=10

4) x+3y=10 xy

Let v =2i + j—k and w = i + 3k.

If uis a unit vector, then the maximum

value of the scalar triple product

— - =
uv wiis:

(1)
(2)
(3)
(4)

+ 6

A

JbigDeal

TE Tl F, yfr @y W S w fer
Tasst 1 34t 7ol ¥ we 9 SR g e
% TR a9 9g % S9EA 991 S S
FAY: « AR T O WY TR W F S
(el §) 7 :

(1) x(1+cota cosp)
(2) x(1+tana cotp)
(3) x(1+tana cosB)
(4) x(1+cota tang)

ufe T =X Y, {EEil x+2y—1=0 a9
2x—y—1=0% Wfo3% fig @ & ¥ vt §
e e el A B W et T, A
AB & wea-foig @1 faigua # -

(1)  x+3y+10xy=0
(2) "x+3y=0

(3) x+3y=10

4) x+3y=10 xy

= A A A —5 A A
HAT v =2i + j—k 99 w =i + 3k
¥ afe ¢ wh aEw wfew ? @ e B

— -3 —

W{uv w}ﬂﬂﬂfﬂfﬁi‘qqﬁ%:

1) Jeo

2y Je

®) V10 + V6
4) 59

N/Page 4
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Let y>=16x be a given parabola and L be

9. 9. HFl y?=16x T e T WEAT ® 941 L
an extremity of its latus rectum in the first 3F AEa & YW 9gae ¥ UF SR #)
quadrant. If a chord is drawn through L g L | &I I a1el] Ua a8, faaet e
with slope —1, then the length of this —1%, @t 39 Sfe1 &1 daE §
chord is :

1) 322 1), 3242
(2) 32 (2) 32

G) 16v2 (3) 162
(4) 16V3 4)  16V3

10. If the system of linear equations, | 10. 3fg Yfa® wHiEw fam
x+2ay+az=0, x+3by+bz=0 and x+2ay+az=0, x+3by+bz=0 T
x+4cy+cz=0 has a non - zero solution, x+4cy+cz=0 FT T& JEW T &, @l
then a, b, c satisfy : a, b, c U= FW T :

(1) 2ab=ac+bc (1) 2ab=ac+bc
(2) 2b=a+c (2) 2b=a+c
(3) b?=ac (3) _b*=ac

(4) 2ac=ab+bc (4) 2ac=ab+bc

11. The rate of change of the volume of a [ 11. T& Tidt & YT &3%d & HAa THH
sphere with respect to its surface area, HATT & IREdT &1 @, 99 39S
when the radius is 2 units, is : 23FB T, B
1 1 M 1
2 4 (2) 4
3) 3 @) 3
4 2 4 2

12. If p is any logical statement, then : 12. 3fe pT& T 97 YA %, e
(1) pv(~p)=p (1) pv~p)=p
(2) pA(~p) is a tautology (2) pA(~p) TG HA 21
(3) pv(~p) is a contradiction (3) pv(~p) TF faRidfaa 21
(4) pap=p (4) pap=p

N/Page 5 SPACE FOR ROUGH WORK / 1% &Td & e wme
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13.

The angle between the lines 2x=3y= —z
and —6x=y=4zis :

1y o°

(2) 30°

(3) 45°

(4) 90°

13.

@l 2x=3y= -z qM —6x=y=4z % &4
(1) o°

(2) 30°

(3) 45°

(4) 90°

14. The coefficient of t2% in 14. (1+H)12 1+t12) (1+t2) & qER § 24 71
1+)12 (1+t12) (1+12) is : O @ :
1 G (1) 12,
) 12C,+13 2 2c.+13
(3) 2ce+2 (3) 2C.+2
4) 12C +1 (4) 2C.+1
15. If m is the slope of a tangent to the curve | 15. 4§ TH e¥=1+22, & fag (v, y) W &
e¥=1+x2, at the point (x, ¥) on the curve, Yl W F1 o m R, & m F 9w A
then all possible values of m lie in the fora siqua ¥ fom @ TR :
interval :
1) [ @) =11
@ [0, 1] (2) 1[0, 1]
@) (1L =) (3) (L «)
@) (== -1) 4) (~= =1
. Im x cosx*dx . J\;’i;".'y xcosx>dx
16. The integral Wi cos(In35 — x2)+ cosx? 16. AR N cos(In35 — xz) + cosx?
is equal to : FOALE
(1) 2 s M 2 5
1 5 1 B
~inZ = Ay R
@ 3"7 @ 377
1 5 1 5
L A
@ g @ 277
1 7 1 7
o T e P T
@ 173 @ 173
N/Page 6 SPACE FOR ROUGH WORK / 1% &1d & fog se
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) A

18.

Teld + 5pl®
J‘(—————3 dx equals :

x + x*+ 1)

x?

(1) 5+ C

2(x7+ x4+ 1)

() _35}4—2 =
(x7+ + 1)
i4
3) E o
2(x7+ 52 4 1)2
(4) x’ +C
(x + 224 1)

The general solution of the differential

equation
—d'—y+sin =k = sin x—g is
dx 2 2 o
in %
lo c t7 |+ 2sin% =
(1) ‘o8| y mns

tan< |+ 2511

(2) log tan%)-l-ZsmA—
(3) log J

(4) log (cot%} + 2sinx = C

18.

13 15
J’?X + Gx d %
\2+ 1)
7
(1) £ NS
7, 2 B
2(.1' + x“+ 1)
14
(2) - +C
(x7+ x2+ 1)
14
) 2 = o &
- 3
Z(x + x“+ 1)
7
(@) —— + C
(x7+ .1'2+ 1)-
THA GHIH T
dy ¥4 1 . X%
—tle s eI | RSN
a 5111[ ] sm( 7 ) F1

(4)

log | tan

log coti\ + 2sinx = C
2)

\

N/Page 7
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19.

20.

Consider

Ly:3x+y+a—2=0;
Ly :3x+y—a+3=0, where a is a positive
real number, and

C:x?+y?—2x+4y—4=0.

Statement 1 : If line L, is a chord of the
circle C, then the line L, is not always a
diameter of the circle C.

Statement 2 : If line L, is a diameter of the
circle C, then the line L, is not a chord of
the circle C.

Then,

(1) Statement - 2 is true and
Statement - 1 is false.

(2) Dboth the statements are true.

(3) both the statements are false.

(4) Statement - 1 is true ‘and

statement - 2 is false.

Let S be the set of all real matrices,

A= [z Z} such that a+d=2 and
AT=A2-2A. Then$S:

(1) has exactly four elements.

(2) is an empty set.

(3) has exactly one element.

{(4) has exactly two elements.

19,

20.

e X fo=r Fifen .

Ly:3x+y+a—2=0; )
L,:3x+y—a+3=0% Sa% o Th YA
g & §, a9l
C:x2+y?—2x+4y—4=0.

HUT1 A L, T C i O S €, @ L, T
9 C &1 =19 &l & |

FIT2: AL, ACH =AM &, @ L, 01 C
I Sfte el 8

(1) U7 - 26N ¥, FY - 1 IHA B
() SR T T |

(3) < F9T 9HA ¥

(4) FUA - 19§ FYT - 2 374@A B

T S At ar@tas IRl F qH=E

A=[:':] qg1 7 % a+d=2 @91
AT=A22A% @S:
(1) ¥ FId 91 7Eg9 ¥
(2) T e @ R
(3) H Fow uH FAEE T
(4) ¥ Faa < oa9a

N/Page 8
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21.

22,

Suppose a population A has 100
observations 101, 102, ..., 200 and another
population B has 100 observations 151,
152, ..., 250. If V, and Vy represent the
variances of two populations respectively,

then the ratio V5 : Vg is:
Iy 312
2y 1:1
Ay i3

4) 1:2

Statement 1 : If three positive numbers in
G.P. represent the sides of a triangle, then
the common ratio of the G.P. must lie

5 —= +
between J_z L and ng 1.

Statement 2 : Three positive numbers can
form sides of a triangle if sum of any two
numbers is greater than the third number.

(1) Statement - 1 is false ; Statement - 2
is true.

(2) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) = Statement - 1 is true ; Statement - 2
is false.

21.

22,

afe ww wafe A 7 100 Tarm
101, 102, ..., 200 ¥ =1 g&d wofe B § 100
Q&7 151, 152, ..., 250 §1 Al v, 491 Vi
FAY: S wEit %y # Qi €, @
S-qu'IHVA:VB%:

1) 3:2
@ 1:1
3) 2:3
@) 1:2

HYA 1 : 9fc THS 4 BT A HAHE
e Tw e &1 geen %1 frefig
FTat F, 9 Ui 4 w1 9 U

‘/52-1 asn v@;j % o= fee ®1

HUA 2 - Afg 7 vAcHS e ¥ =l
141 dred | 5 |, b I8 e s
& speneti &1 Fefag #T g €

(1) HIA - 138 8, 99 - 2 FA 2|

) ®UF - 19E T ; FYT 2 §A B,
FYT - 2, FYF - 1 FI W&l A=A 2|

(3)' FOT - 19T T; FYT - 2T T ;
FHOH — 2, T 1 1 TEl A T B

(4) U - 19A T, FUA - 2 A T

N/Page 9

SPACE FOR ROUGH WORK / 1% &m¥ & ot s



Download from JbigDeal

23. The least positive integral value of x which | 23. x %1 98 TdH ¥9cH® YUNihid M, &I
satisfies the inequality 1°C,_, > 2x10C, st 10C, _, > 2x10C, %1 §q= 3 3,
is : g:
(1) 6 (1) 6
2 5 2 5
G 8 ®) 8
4) 9 “4) 9
24. If f(x)=x | x |, then for any real numbers | 24. ﬂ&_f(x')=x|.ri%,ﬁal¥ﬁﬁiﬁm3ﬁaﬂmb
a and b with a<b, the value of b
b % g Sela<b €, [ f(x)dx TR E :
J f(x)dx equals : a
a
1(3_13 13 .3
®  3(®-v) m 3(@-v)
@ z(bP-1aP) @ 2(ivP -1aP)
3 3
1,.3_.23 1,,3_3
@ 3lb"-a @) b’ -a
1(3 13 1(3 .13
@ 3@+ @ 3 (a*+v°)
N/Page 10 SPACE FOR ROUGH WORK / 1% & & feg s
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25,

26.

If z=i (i~i~ \/5), then the value of
A+434+622+4z is :

1 -9
{2y ~5
3) 3
(4) 6
If for real

some number a,

lim gL +3a ot exists, then the limit
x—0 b 4

is equal to :

If a variable plane passes through a fixed
point (1, —2, 3) and meets the coordinate
axes at points A, B, C, then the point of
intersection of the planes through A, B, C
parallel to the coordinate planes lies on :

1 1
(1) =xy+ Fyz— 3zx=6

1 1
(2) =xy— Syzt 52x=6

(3) yz—2zx+3xy=xyz

(4) xy—2yz+3zx=3xyz

25.

26.

27.

A z=i (i+ V2)8, A 2+42+622+42
FHAAE :

1 -9
@ -5
3) 3

4) 6

gfe fedl ar=fas ¥@a1 2 & fau
lim sin2x + a sin x Wﬂﬁ«"lﬁ%, & 1%

x—0 x3

T SR ®

1 2

Ifg U =R gHqA U feer foig (1, —2,3) @
BrehY ST € a9 Frdwne siedl i feigai A, B,
C W FEd@ ¢, @ A, B, C ¥ T 91 91,
i w1all & wHiaT gHadl &1 yfdeded
ﬁgﬁlﬁﬂﬁﬂﬁ%aﬁ%:

1 1
(1) =xy+ Syz- gzx=6

1 1
(2) =xy- Eyz+ gzx=6

(3) yz—2zx+3xy=xyz

(4) =xy—2yz+3zx=3xyz

N/Page 11
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28.

29,

30.

Let f and g be functions defined by.

flx)= = i 1" xeR, xz—1, and
g(x)=x2+1, xeR. Then gof is :

(1) neither one - one nor onto.

(2) one - one but not onto.

(3) onto but not one - one.

(4) both one - one and onto.

A tree, in each year, grows 5 cm less than
it grew in the previous year. If it grew
half a metre in the first year, then the
height of the tree (in metres), when it ceases

to grow, is :
(1) 2.00
(2) 3.00
(3) 275

(4) 2.50

If the quadratic equation
3x2+2(a2+1)x+ (a2—3a+2) =0

possesses roots of opposite signs, then a

lies in the interval :

1) (23
@ (—o-1)
@3 (-1
4 12

28.

29.

30.

HAT A9 g, flx)= , XeR, x#—1 q:M

x+ 1
g(x)=x2+1, xeR g TRfom weoq & @@
gof :

(1) @ TER T R & e -
(2) UHH B AfKT TSI T ¥

(3) wTBREE B W TH! T €

(4) TH! TAT SATIEH Sl B |

T 9 wiaay, fuset o =t eren 5 4., wu -
Tl ¢ 1 IfE 9% veat @6 # 1/2 9. 9g@ B, @
S T T 9 X § Al IS H Farn (W
H)R:

(L 200
(2) " 3.00
3) 2.75

4) 2.50

Tfe T geie
3x2+2(a%2+1)x+(a2—3a+2)=0

% o foadia fai & €, Wa 59 i@ 8,
TR :

@ 23

2) (==-1)
@) (=11
4 12

N/Page 12
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Part II / 9T 11
Aptitude Test / ifusfa adtgror

Directions : (For Q. 31 to 34). Which one of the answer figures, will complete the sequence of the
three problem figures ?

Fdor: (31 @34 F )1 3w sngladl 4 8 B9t sFld # @7 597 siFladl § e @
379 (sequence) T & ST ?

Problem Figures /| 337 3113?'7?1??? Answer Figures |/ 3t 3?7?:'/%'(’1?
4 v|e O|le v|e of« ©|e ]
ek ® m _ ? ° ® oo >0
1) (2) ®) (4)
e o | @ ®ee| ¢ o ...] ¥y ®ee| *
s . ::c . : ® .o. ° \ ? = ¢ o.: :o : l * ol®e® .. o:
(1) (2) ©3) (4)
33. —4’%0 % %zo ? 7&0 ‘EJWO %@O g%—
(1) (2) (3) )

3. ?

(1) 2 ©) (4)
N/Page 13 SPACE FOR ROUGH WORK / T% &Td & fog wmg
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Directions : (For Q. 35 to 37). Which one of the answer figures shows the correct view of the 3 - D

problem figure, after the figure is opened up ?
3 - D ¥ FT i Gl T, IW sFladl § 8 el g7 Fvar &2
Answer Figures | IR 3Tfaal

Fdor: (w35 |37 % fm
Problem Figure /[

S SFI

T
G

[—TT11
) o |

aH| IR

| et
35.@ ;

1
| O
[T

(1) @) 3) (4)

-2 R

E

5 25 25 2|s

(

1

o LT

)

I

(4)

N/Page 14
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Directions : (For Q. 38 to 42). Find out the total number of surfaces of the object given below, in the
problem figure.

FEvr: (w38 @ &) 597 sidfa 7 (rifaa aag &, Gael &1 o G 1T T/
Problem Figure /| 97 3irld

38. % (1) 12 2 14 3) 15 (4) 13
39. & 1 17 2) 20 (3) 18 (4) 16
40. @ (1 22 @) 19 @) 18 4) 20
41. @ (1) 18 @) 16 3) 15 @) 17
42. @ 1) 13 2) 15 3) 14 @ 12
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Directions : (For Q. 43 and 44).  The problem figure shows the top view of an object. Identify the
correct front view, from amongst the answer figures.

fdor: (W 43 3fiT44 & Q)1 77 smfa & fdt aag 71 9 399 fe@rar 7191 &1 W nplaal 4
H 59% WEl §rgE g YEaIIy |

Problem Figure | 337 STFIT Answer Figures / 3 317?:7%/?77'

<&
ool dkh dizn dles
(1) (2) ®) (4)

44, D | ﬁ &3 H [LIQ' [

(1) @ ) @)

Directions : (For Q. 45 and 46). The 3 - D problem figure shows an object. Identify, its correct top
view, from amongst the answer figures. '

o : (W 45 30t 46 & @)1 3 D 597 3l 4 U= o @ @ 77 &1 99 TE S 59T
I ArFf ° q vEEna)
Problem Figure | T Sld Answer Figures / B?i?&ﬂé‘?/%f?ﬁ'

1] o) G0 o

L L] L
1) (2) 3) (4)
L1
46. b .
O o O &
|
M ) @) @
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Directions : (For Q. 47 to 49).

59T : (W47 @49 & @ )1

— |
B

)

Directions : (For Q. 50 and 51).

fder : (7 50 3k 51 % fova )t

Problem Figure / %7 30gid

JbigDeal

Find the odd figure out in the problem figures given below :
719 31 7 99 il 9 G, fauq sty Fard |

\
(3)

(2) (4)
d 7 b |
Pl \ . . ‘

(2) (3) (4)

L }bl
ik X i_._

Ij i ’

(4)
One of the ansm'rﬁgures given below is hidden in the problem figure,
in the same size and direction. Select, which one is correct.

T2 3 7 I sl F @ U st 7 ok e ¥ wa w9 @
W TE A [0 8 FTHLEET 8 g
Answor Figitresf ST TFlaar

—
)
~—
UJ
~

50. 7% N Q O

(1) @ . 3) 4)
,/ - /\\ /"l
N ‘/ //_\ \/\ J

51. 7

1 \\/J Zy_.;/ \\\ \/

\ 1 2 3 4

/\ \ M @ 3) @
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Directions : (For Q. 52 to 58). The 3-D problem figure shows an object. Identify, the correct view,
from amongst the answer figures, looking in the direction of the arrow.

Fdor: (.52 @58 & fr@)1  3-D 997 15l & U 5% &1 fe@ran 741 &1 R &1 fewn 9 3@d §g

59% Tl g99 F1 I NFadl 4 T gAY
Problem Figure | F97 3l Answer Figures /| T STgHfaal
L L
52. [] L] L] i
I e L1 [
p™
(1) (2) (3) (4)
N ] [ 1 =
53. ™ -/ 7
E ) ® ® @

] L

] [ {EY H

¥

(1) (2) 3) (4)
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Problem Figure | 97 3l Answer Figures / W St
[] B | ]
55 o B IS IS
[
2 | (1) (2) ) (4)

. Lh—rﬁ'ﬂ :E: E:j

P (1) 2) (3) (4)
W 1) 2) (3) )
N 7 =
58. ] [] ] 1]
] | |
A @) 2 3) @)
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Directions : (For Q. 59). How many total number of rectangles are there in the problem figure given
below ?

fdor: (W59 & forw )1 19 51 78 397 snigfa § Sl #1 el 9 a8 7

Problem Figure /| F97 3hld

58.

Directions : (For Q. 60 and 61). How many total number of triangles are there, in the problem figures
given below ?

5T : (W 60 361 & foww )1 71 &1 75 797 uglaadl 4 3y #i Fe a&7 bt & ?

Problem Figure / %7 1%l

60.

1) 19 2) 20 3) 18 @) 17

61. \| /
i

AN

(1) 20 @) 16 3) 17 4) 18
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Directions : (For Q. 62 to 65). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

FEr: (762 T65 & @)1 I argladl § @ Fiadt shla o T8 999 3l #1 X - X T G&
gy gt &2

Problem Figure /| 97 3l Answer Figures / I st

62.
X
X
63.
X @® () (3) (4)
X
X ) (2) (3) (4)
X
X (1) (2) ) (4)
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66.

67.

68.

69.

70.

Horizontal sun shades are required to
protect windows on which facades of a
building ?

(1) North

(2) South
(3) East
(4) West

Which one of the following is an

Architect ?

(1) Salman Rushdie

(2) Amrita Sher-Gill

(3) M.F. Hussain

(4) Christopher Benninger

Which type of roof will keep the room

cooler ?

(1) Asbestos sheet roofing

(2) Concrete slab with cement plaster

(3) Concrete slab with mud and brick
tiles

(4) Concrete slab with mud, brick tiles
and covered with potted plants

Natural shadowless light is available from
which direction in India ?

(1) North

(2) South

(3) North-West
(4) East

Qutab Minar is largely cladded with :

(1) Brick

(2) Granite

(3) Red sand stone
(4) Marble

66.

67.

68.

69.

70.

gfas ==, Yo & 9 2R & wedt 9+t
faefFal =1 gd =t fHol @ s €2

(1) IW
(2) sfegm

(3
(4) Hfe=m

frefafea § @ 1 & agar 27

(1) HemH B
(2) A R-fire
(3) THUE g
(4) fwEade df s

e T # o9 FI w1 IT W 7

(1) THEY AR & o

(2) HIZ H T, W TR & 9

(3) [ FHIE & B, MY AR L F el |
@ TR

(4) FEE F TA, T, T H A iR
o & Wl ¥ g g

IRd H, fa=1 S 1 wepfasw geme fora feen
T ITAH 2 ?

(1) 3IWE

(2) <feod

(3) SW-ufem ¥

4 wH

Fqd WK T fFaQ stfushat ud weE T £
(1) 4

(2) TR

(3) o d TR |

(4) TR H

N/Page 22
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71.

72.

73.

74.

75,

Which one of the following cities in India
lie in Cold and Dry region ?

(1) Gangtok

(2) Simla

(3) Darjeeling

(4) Leh

Which one of the following is a horizontal
member in a building that carries load ?

(1) Beam

(2) Arch
(3) Column
(4) Vault

Which one of the following consumes least
amount of electricity ?

(1) Light Emitting Diedes (LED)

(2) Tungsten Bulb

(3) "Compact Fluorescent Lamp (CFL)
(4) Fluorescent Tube

Point out the incorrect combination :
(1) Agora and Greece

(2) Pagoda and Burma

(3) Vat and Combodia

(4) Eiffel Tower and Congo

Which one is not a sound absorbing
material ?

(1) Ground glass
(2) Jute bags

(3) Thermocol
(4) Glass wool

71,

72.

73.

74.

75.

9Iia &, Frefafad wedl § 9, S 38 iR
(1) e

(2) Temgen
(3) =IfSferT
(4) <

fefafEs # 9 S99 398G &1 TF afas
HEEATHS 91 S o 9/ o8 S §2

(1) M

(2) e (37H)

(3) WY (HieH)

(4) WEEt Bq ()

frefafaa & @ s, faselt & @99 &
g FH HLl & ?

(1) Tl s, §Are (LED)

) TR T

(3). M (Compact) Ffadifa &9 (CFL)
) gfacifa Ffere

(1) T iR i

(2) e &R i

(3) o2 R wHEfed

(4) STEEA A AR FM

Hie verd a7 e 7 g 2.

1) frm=e
(2) THEA a0
(3) gHHE

(4) R T

—
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76.

774

78.

79.

80.

Palace of winds (Hawa Mahal) is located
in:

(1) Andhra Pradesh

(2) Madhya Pradesh

(3) Rajasthan

(4) Jammu and Kashmir

Which city is based on sector planning ?
(1) Pune

(2) Patna

(3) Chandigarh

(4) Kolkata

In which place in India can we find cave
temples of three faiths ?

(1) Agra

(2) Madurai
(3) Delhi

(4) Ellora

The summer sun in Northern Hemisphete
rises from :

(1) East
(2) North
(3) South East

(4) North East

Name the city where canals are used as

transportation channels :
(1) Tokyo

(2) Canberra

(3) Manhattan

(4) Venice

-000-

76.

77

78.

79.

80.

T Hed el 1594 © ?

1) oy wew H

2) A YRUH

3) USEHEH

4) S AR HEERT A

FHITH] VT WX wf’ W e €7
(1)

(2) T

(3) e

(4) HicTEHmE

9IRd § fre SR W g 19 9|l & T Hfet
foera €2

(1) sraH

(2) wgEH

(3) fecetd

(4)y, TERIH

el el e, o Fe R P 22

1) I

(2) TWA

(3) =faugda
(4) IWER

3G YIEL F1 W §q1, SRl 8L, I 5 B
o gE | St € 2

(1) SfE=R

() FFEq

(3) HEe

(4) 9w

-00o0-
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Read the following instructions carefully :

oo e sarT @ ug -

1.

1.

Part I has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT {Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct responge. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part I, one=fourth (Ya) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if #o response is indicated for an
item in the Answer Sheet.

Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for

* discrepancy in Test Booklet Code and Answer Sheet

Code), another set will be provided.

The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked “Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

Each candidate must show on demand his/her Admit
Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leaye his fher
seat.

On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part I
& 1l and Drawing Sheet of Aptitude Test-Part 111 to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - PartI & 11

Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

. The candidates will write the Test Booklet Number as

given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1.

10.

11.

et & W 1 7T o 30 98 WA § forad gl
¥ % FEl I & AR (¢) % fyifa & m E
o 11 (sifesfa wie) & 50 FwgfTs ave € fod s
T 3 & fau = (4) 1 €1 gfeae & wmt | 299
¥ frn forw 70 3w Fwifia € 1 7 v it when yfaam
¥ et Tl gET e WA ¥ | ydF 99q g Feifa
3 T & T sfeRa €1 9 1 3R 9 0 H T
TETT I % Torg 39 wv % foau fuife $a s 8 9
uw-witeng (Ya) i T 9 ¥ 4 T forg smi ) afg
TR A H 5 9 F I FHeAE G TR, @ g
4 H | WS e el e i |

e g, SR U ud gET e @ Ay gE
FX, Fife fordt off uftfeafa & (Faa e g w@
I IA & Wi | e a1 feafa =1 srgat) g wdhen
it Iuersy el U S |

T IR TF W FE o T w9 a1 W
1 1 7afa & &1 A T ue ferand o, T
it 8 freifa s < i v o F fom e’ 5/
AifeRa 7, TR TR SR IR W W % WA F
317 o gt % ofd 9 3981 (I8 25 - 27) W T &1
% WM W g wenedt e | s yaw e
feand |

et 71 FAdterss &1 fordrs Sigafa & fomn =i whened
31UAT TIH W BIET

g3E wETE @i 1Y, uerenef fattarwl &1 ero
afere - WA | 0E SIfEiE T - 9rT 1 I 9H
srfusfa e wm m# 2ET e 37 ok sufeafy o
T ST SR AR ST F IVER € Wi 36 B |
T 7 T A WA SR R I T T 2R vie T8
e e E o eTfad e wa S 4§ 9 S e
atgrel 210 AT e & WS T Fryna sufeafa e
fau T v W erava g aenfa, wWerel soet
ifora we Sferefa gdierm - ww 1T 11 e giae S
Ak ET R

TR eI YR a1 gET 9 (S
Thel, T TG ) 1 WA afsa # 1

it g | s & forg wdeneff 9. 9. /e F et
s faframt g frafia 2 smfaa @ wEm & it
e =1 e 9.9, /arE % i ve fafremi % aaen
Bl

forell ot fearfa & wlien qfas, 39t 931 0 218 ¥iiE
w1 off wmr 7 @ e e e o) T € A S Em
ey fammrer s

witen gfirsht, ST O Ud g wie § € wten gfc
e yhene o€ 7% @ wfeil w= H oft fad |
gitemell gRT e ger/mer ® Ayl Wi & fea
foreft wanT =R T W, Hfed O wEtanad, s
=t ufddal, IR, AIAEE Wi, FeagiaE 0T a1
et 3= weRTe Y |t ST S O 30T S b
SrTAf T ¥
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